SAGINAW CONTROL & ENGINEERING
SCE-102297

GROUNDIN
LABEL

3/8-16 COLLAR STUD
PROVISION IN
ENCLOSURE

NOT INCLUDED 3/8-16 FLANGED NUT IS INCLUDED
IN SUB-PANEL MOUNTING BOLT PACK

INSTALLATION VIEW

@

GROUNDING
LABEL

102535 100877

GROUNDING KIT

BILL OF MATERIAL
PART DESCRIPTION PART I.D.
Nut, Keps, 1/4-20, Steel, Zinc Clear 100877

Screw, Hex Head, Full Thread, 1/4-20 X 3/4", Steel, Zinc Clear 102535

Nut, Hex Full, 1/4-20, Steel, Zinc Clear 107827

Lock Washer, Internal, External Tooth, 3/8, Steel, Zinc 114341
DATA SUBJECT TO CHANGE WITHOUT NOTICE Grounding Label N/A




